Dakatayklieital
“

GRFX-69C-CAM

Dakota Digital GRFX Instrument Installation
For 1969 Chevrolet Camaro

Your new GRFX-69C-CAM kit includes:

GRFX Displays

Foam Tape Installation Manuals Control Box

@RAFTX

GRAFIX

Graphical Display Instrument System

Universal
Sender Pack

]
8
x
4
E)
L2
<
E

[ INSTALUATION AND OPERATION MANUAL ]

Please read this before beginning installation or wiring. ® 12VDC CONSTANT
L

STATUS

IMPORTANI NOTE! _This system has an odometer preset option that is only
available for the first 100 miles of operation. See odometer preset section (p. 31)
for instructions and setup information.

AL Phone (605)3326513
dakotasupportadakotadigital.com

(ANE

el i

36” Main Harness

2x 10-32 x 1” Screws 2x 10-32 x 1.5” Screws w/
Interconnect
w/ Nylon Washers Nylon Shoulder Washers Harness

Manual # 650823



Installation

1. Remove the clear lenses, light bulbs, indicator light panels, and gauge internals; they are held into
the housing with nuts from the back side. It may be possible to access fasteners with the dash
carrier installed; removing the entire assembly may not be necessary.

2. Cut the supplied Foam Tape into six two-inch
strips. Install these foam strips on the top and
sides of each opening, about half an inch down
from the face of the housing. This foam provides a
cushion for the new GRFX displays to ensure a
tight, rattle-free fit.

RCA Video Input

Foam Tape

Interconnect

Harness 3. Connect one end of the provided

Interconnect Harness to the new
GRFX display with the switch
knob. If desired, a backup camera
can also be connected using the
available RCA input.

Manual # 650823



4. Route the open ends of the interconnect harness (and RCA cable, if desired) through the right-
side opening shown below. Use the two provided 10-32 x 1.5” Screws with Nylon Shoulder
Washers to secure the GRFX display to the housing. Tighten with a 1/8” Allen wrench.

Cable routed through
indicator light opening

5. To install the left-side display, route the far open end of the interconnect harness back through the
indicator light opening on the left side of the gauge carrier and connect to the back of the GRFX
display. Use the two provided 10-32 x 1” Screws with Flat Nylon Washers to secure the
assembly.

Manual # 650823



6. Connect the provided 36” Main
Harness to the open middle
connector of the interconnect
harness. Carefully route the
opposite end of the main harness to
the control box mounting location.

7. Re-install the gauge carrier into the vehicle if removed. Refer to the main GRFX manual
for wiring instructions to complete the GRFX installation.

MWARNING: This product can expose you to chemicals including lead, which is known to the State of
California to cause cancer and birth defects or other reproductive harm. For more information go to
www.P65Warnings.ca.gov

4510 W. 61st St. North Phone [(605) 332-6513
Sioux Falls, SD 57107 Fax [605) 339-4106
www.dakotadigital.com

dakotasupport@dakotadigital.com © Copyright 2024 - Dakaota Digital

Daketd @}'Hg;l."t:fa-l

Manual # 650823


http://www.p65warnings.ca.gov/

